14.5 Activation Energy and Temperature
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14.5
The Arrhenius Equation
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14.5 Activation Energy and Temperature

The Arrhenius Equation

is 144 kd/mol.

rate constant at 531 K?

The activation energy for the gas phase decomposition of acetic anhydride

(CH;C0),0 = CH,=C=0 + CH;COOH
The rate constant for this reaction is 6.02x104 s-1 at 495 K. What is the
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14.5 Activation Energy and Temperature

Graphical Determination of Ea ;
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The Arrhenius Equation 4 c
Question 1 of 3 Sk Ns /v Py&! s?ope L ¥

The rate of the reaction
NzOs (g) —= 2 NOz(g) + “20z(g)

is measured at different temperatures, with the
following rate constants, k, determined:

Temperature, K k, s-1
298 3.46 x 105
328 1.5x 103
358 3.34 x 102
378 0.21

What is the activation energy, Ea, for this reaction

in units of kilojoules?




14.5 Activation Energy and Temperature
Graphical Determination of Ea
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The Arrhenius Equation 102 BT mk!
Question 1 of 3
The rate of the reaction
NzOs (g) —— 2 NOz2 (g) + *20=z (g)
is measured at different temperatures, with the Squares
following rate constants, k, determined: - slope~c -1.23x10%4 Analysis
Temperature, K k, s-1 =In k
298 3.46 x 105 el
328 1.5 x 103
358 3.34 x 102
378 0.21 - Oin T ®1/T
What is the activation energy, Ea, for this reaction
in units of kilgjoules? Enter a response, then press SUBMIT. | Plot |
omit | 1| 102, | ks  Clear |
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14.6 Reaction Mechanisms and Catalysis

The Components of a Reaction Mechanism

Cheamisiny Interactive: Mechanism of The Reaction Between NOz and CO
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